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14 85147 R B E 100
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32 85165t 2+ 1000
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53 85186 TiEEE#+ 1000
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57 85190 A&+ 500
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59 85192| BB #+ 200
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61 85194 PR TSR 5000
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64 85197 [ A 2+ 1000
65 85198 | PR EE S A 1000
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69 85202+ 500
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80 85213|FE A% £ 3000
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103 85236 2t 600
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113 85246\ Mkt 3000
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117 85250 fmIEERE 41 2000
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176 85309\ Er a2 1 1000
177 85310| B ok 1000
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296 8542934k A g 41 1000
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301 85434 | NSRS AIE A H] 300
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303 85436|FHE o4 300
304 85437|E kS 200
305 85438 | L 200
306 85439|FIE Rt 300
307 85440 Fk LU H A+ 200
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320 85453 | St s A 1000
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322 85455 &4+ 1000
323 85456| S SAE 1000
324 85457 (B EE A 1000
325 85458| EH & FIE 800
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327 85460\ 2R E 2+ 500
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329 854628 IME L+ 500
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331 85464155 B/ %L 500
332 85465 |l e Sk 300
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335 85463 B E 2+t 800
336 85469 | B HE . R BIEE G S A 1000
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341 85474|B 0 BSR4 300
342 85475| MRt B AR 3000
343 85476| EEisEA A 2000
344 85477 P 4+ 1000
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346 85479| E s it 500
347 85480| EAEESLAEREFE 3000
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349 85482 | ZEHE 2000
350 85483 MhFEE L+ 2000
351 85484|MhEE 4+ 2000
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355 85488 | Bl 4+ 727
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357 85490| & pE L+ 500
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359 85492 S 300
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434 85567 [FFFarEE L 200
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436 85569| Bz oAk 500
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438 85571 I E B 300
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460 85593 [ AHESLAE 1000
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464 855971 E SR 200
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484 85617 BUEAE 1000
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